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1.
It is usual to divide markets into four categories. In ascending order of competitiveness these are (fill in the missing three):


1. 
monopoly.


2. 





3. 





4. 




2.
To which of the above four categories do the following apply to the member firms?  (There can be more than one market category in each case.)


(a)
Firms face a downward sloping demand curve.  



(b)
New firms can freely enter the industry. 



(c)
Firms produce a homogeneous product.  



(d)
Firms are price takers.  



(e)
Firms face an elastic demand (but less than infinity) at the profit-maximising output.


(f)
Firms will produce where MR = MC if they wish to maximise profits. 
...................


(g)
There is perfect knowledge on the part of consumers of price and product quality.

3. 
In which of the four categories would you place each of the following?  (It is possible in some cases that part of the industry could be in one category and part in another: if so name both.)


(a)
A village post office



(b)
Restaurants in large town 



(c)
Banks



(d)
Hi-fi manufacturers 



(e)
Producers of barley 



(f)
Water supply 



(g)
Local buses 



(h)
The market for foreign currency 


4.
The  following diagram shows the cost curves of a firm under perfect competition.
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(a)
How much will the firm produce in order to maximise profits at a price



of £8 per unit?                                                                                       



(b)
What will be its average cost of production at this output?



(c)
How much (supernormal) profit will it make?



(d)
How much will the firm produce in order to maximise profits at a price



of £5 per unit?                                                                                      



(e)
How much (supernormal) profit will it make?



(f)
How much will the firm produce in order to maximise profits at a price



of £4 per unit?                                                                                      



(g)
What will be its profit position now?



(h)
Below what price would the firm shut down in the short run?



(i)
Below what price would the firm shut down in the long run?


5.
A monopolist is faced with the following cost and revenue curves:
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(a)
What is the maximum-profit output? 


(b)
What is the maximum-profit price?


(c)
What is the total revenue at this price and output?


(d)
What is the total cost at this price and output?


(e)
What is the level of profit at this price and output?


(f)
If the monopolist were ordered to produce 300 units, what would be the market price?


(g)
How much profit would now be made?


(h)
If the monopolist were faced with the same demand, but average costs were constant at £60 per unit, what output would maximise profit?


(i)
What would be the price now?



(j)
How much profit would now be made?



(k)
Assume now that the monopolist decides not to maximise profits, but instead sets a price of £40. How much will now be sold?


(l)
What is the marginal revenue at this output? 



(m)
What does the answer to (l) indicate about total revenue at a price of £40?



(n)
What is the price elasticity of demand at a price of £40? (You do not need to do a calculation to work this out: think about the relationship between MR and TR.)

6.
Even if a firm is currently a monopoly, it may be forced to behave as if it were in a competitive market if there is potential competition: i.e. if the market is contestable. 


(a)
The threat of this competition will be greater the higher / the lower [delete as applicable] the entry costs to the industry and 


(b) 
the higher / the lower [delete as applicable] the exit costs from the industry

7. 
From the list of points below select those which distinguish a monopolistically competitive industry from a perfectly competitive industry.


(a)
There are no barriers to the entry of new firms into the market.
Yes/No

(b)
Firms in the industry produce differentiated products. 
Yes/No

(c)
The industry is characterised by a mass of sellers, each with a small market share.
Yes/No

(d)
A downward sloping demand curve means the firm has some control over the product's price.
Yes/No

(e)
In the long run only normal profits will be earned.
Yes/No

(f)
Advertising plays a key role in bringing the product to the attention of the consumer.
Yes/No

8.
Which of the following are characteristics of oligopoly? 


(a)
There are just a few firms that dominate the industry. 
Yes / No

(b)
There are few if any barriers to the entry of new firms into the industry. 
Yes / No

(d)
The firms face downward sloping demand curves. 
Yes / No

(e)
There is little point in advertising because there are so few firms. 
Yes / No

(f)
Oligopolists tend to take into account the actions and reactions of other firms. 
Yes / No

9.
Under which of the following circumstances is collusion likely to break down?


(a)
There is a reduction in barriers to international trade.  
Yes/No

(b)
The market becomes more stable.  
Yes/No

(c)
One of the firms develops a new cost-saving technique.  
Yes/No

(d)
One of the firms becomes dominant in the industry.  
Yes/No

(e)
The number of firms in the industry decreases.  
Yes/No
10.
The table below shows the annual profits of two paint manufacturers. At present they both charge £10.00 per litre for gloss paint. Their annual profits are shown in Box A. The other boxes show the effects on their profits of one or the other, or both firms reducing their price to £8.00.

	
	Durashine’s price

£10.00                                    £8.00

	£10.00

Supasheen’s
	A
£6 million each
	C
£2 million for Supasheen

£8 million for Durashine

	price

£8.00
	B
£9 million for Supasheen

£3 million for Durashine
	D
£4 million each



(a)  Which of the two prices should Durashine charge if it is pursuing



(i)
a maximax strategy?  
£10.00/£8.00


(ii)
a maximin strategy?  
£10.00/£8.00

(b)
  Which of the two prices should Supasheen charge if it is pursuing



(i)
a maximax strategy?  
£10.00/£8.00


(ii)
a maximin strategy?  
£10.00/£8.00

(c)
  Why is this known as a dominant strategy game?


(d)
  Assume now that the ‘game’ between Supasheen and Durashine has been played for some time with the result that they both learn a ‘lesson’ from it.  What are they likely to do?


Durashine now faces competition from firms other than Supasheen. It thus decides to consider some alternative strategies to adopt. It examines four options. The first is to a 10 per cent price cut. The second is to introduce a new brand of high gloss durable emulsion paint. The third is to launch a new marketing campaign. The fourth is to introduce no change other than increasing its prices in line with inflation. It estimates how much profit (in £m) each strategy (1–4) will bring depending on how its rivals react.  It considers the effects of six possible reactions (a–f).

	
	
	Other firms' responses

	
	
	a
	b
	c
	d
	e
	f 

	Strategies
	1
	£0
	£1m
	£3m
	£0
	£2m
	£3m

	for
	2
	–£2m
	£5m
	–£2m
	£3m
	£4m
	£6m

	
	3
	–£4m
	£2m
	–£1m
	£0
	£1m
	£8m

	Durashine
	4
	£2m
	£3m
	–£1m
	£4m
	£3m
	£7m


(e)
Which of the four policies should it adopt if it is pursuing:



(i)
A maximax strategy?
1 / 2 / 3 / 4



(ii)
A maximin strategy?
1 / 2 / 3 / 4


(f)
Which of the four policies might be the best compromise?
1 / 2 / 3 / 4
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Market Structures
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